Briaah R

TR FEBI AR Hirk BT 3R AR | B R %5
138 T
2+
3 ER IR L
71— D5 m LH BV DOPRE
757 L W R NE10KT i 10,040 10,000]192.4%0.70%0.95+%1.00%8h=1024 i’/ H
3-WhER G 1
(-)8650 m A (5)FHD1000psHY
S e i G R SR ERRESkm nt 10,040 10,000
3+ T
72— D5 i
77 RIEL OE ) N L0 nt 10,040 10,000
-+ (L—X) TVR—H 20tk nt 10,040 10,000
LR
AR D I S B
. ; ) . ) 20m*84/%=160m
V55 1L ISR i 72— ®300 # 300 /& Im*=20m m 160.0 160
s ) . ) 20m*8A/%=160m
aacal RN S e i 72— P 300 # 300 & 1m*20m m 160.0 160
20m*84/%.=160m
15 ) LA 5 m 320.0 320 |160m*2( % 2[A1)=320m
5 V) L S R R
) (|29 1.65+2.2 (RELL A -HIRLLA -8
V5 I B k) A« %3.1 H)+2.0 B (A - fiH)=56 B
56%1/3 =18.6= 19([])
15 - R ST B Y 1 1
[l
757 MR AR ) 7 —5.0m
777 P O i MR ) BT ETRERE100km (25 L LA ) 1 1
[ SEHR AL #650 i (BHEAZ)
b3 BRI = [RIATERAE 1 00km (251 2L 1) 1 1
TR
TIR—H
R ER MR ) A ST i 2% 2065 0L F 21tk F ] 1 1
10t 70kmET £
15 ¥ LE NS g 70—k d 300 160m =X 1 1
K E G ERBOE
IR ELRBEL (7T 7 R - T K LAR) K 1 1
EELRBOE (K 1) X 1 1
wet
(10040m'/1024 (m/ A1) ) *3 (J2 1% - i - #
AR R £-A 29 29| A\)=29H
K LA (KA PRA i F
AL H (R38R D270psT 3~5t 199kW 120m*100m=12,000n{ 50m+40m=2,000n
50m*80m/2=2,000nt
kA B IRAHE 1EKkA20% ot 16,000 16,000{12,000 0t + 2,000 18 +2,0001=16,000 117




OBt

1 = No. BTE S (m2) FHE@EE (m2) HEE (m) #F (m3) HE=E
No. 1
No. 2 20.0
No. 3 20.0
No. 4 20.0
No. 5 62. 00 20.0
No. 6 55. 00 58. 50 20.0 1,170.0
No. 7 62. 00 58. 50 20.0 1,170.0
No. 8 77.00 69. 50 20.0 1,390.0
No. 9 107. 00 92.00 20.0 1,840.0
No. 10 115. 00 111.00 20.0 2,220.0
No. 11 110. 00 112.50 20.0 2,250.0
No. 12 20.0

=1 220.0 10, 040.0




